AHA23051 £ 1%1

C.1.2

(1)
EANEZ (z,y) = (21,y1) CROEIRET D, CDEE,
f <2m1 + %,yl) — f(z1,y1) = 3a (ml + 2i)2 >0KD.
f (2:131 + 2C ,yl) > f(z,y1) BUS (2:131 + 2C 1) > f(z1,y1) THRNUL
IREICKT B8 (2x1 + 2—a,y1) = f(z1,y1) BHERIIEMLD
x1 + 2£ =0 ZDEE. f(r1+1,41) — f(z1,91) =a > 0FKD

a

f(:cl + 1,y1) > f(il?l,y1) Zﬂ(i’fﬁi([)ﬁ@’50

=/IMEZ (2, y) = (z1,y1) CHOEIRET D, CDES,
d d\’
f (wla2yl + 2b) — f(z1,y1) = 3b (yl + 2b> <0KD.

d d .
f ($1,2y1 + 2b> S f(ml,yl) :BL/f (331,23/1 + 2b) < f(ml,yl)_Caﬁﬂ(a"

'f&ﬁE(L}ig_%j_ &)f (.’Bl, 2y1 + ;}) = f(:nl,yl) hk:ﬁk_LK'fq:J:D

bt =0 TOEE. [+ 1) - fenw) = b< 0KD
f(wl,yl + 1) < f(xl,yl)Zﬂ(i'f}iE(Zlig_ﬁo

= f(z,y) = az’ + by’ + cz + dy = (+i)2+b 12—c—2—d—2
FTmy)mar oy e Ay =alr T o, % 4a 4b
2 d\?2 c? d? c?
£5C afer S)an(yr L) —an Saf L0 Lops
ax+2a - y+2b =z + +4b z # 1
C2 2
brg) wed)
Z+C_+£ Z+C_+£

a b



s W)

2 | 2 2 2

£y dz ¢y d
ety ety
a

b

-, FXHRAR

i$ﬁﬁ%ﬁzy:iﬂ( + 2Ca) %

. 2 &2
(i)z = — — FPES,

a(w+2i>2—|—b<y+2ib)2:0 (\/5)2< +2i 2— ( )
(Vo 5=V o)) (v 7—”( e
ve _%w_zfiﬁ ;;y_ % QJZT 52
- 2RDIBEHR
i)z > —£ — Lpez

2 2
< 4
(z+5) (Wt _1
et et
a b

-, FXHRHR

e [ a c d
ANEAR : y = + b(w+2a) 5

ETDE.
()DEE=ZK(0, te), (ii)DEE=(E(Le, 0)

2 2 2 2
¢ d et d2
Hoth Z+4a+4b

a

+




